Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Fourth Semester B.E. Degree Exa %n, July/August 2022
Additional Math atics - 11 A
Time: 3 hrs. &Wax Marks: 100
osing ONE full questw g&gfrt;vm each module.
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ﬁ% (06 Marks)

s
;y x—2y+3z=8;2x+y-z=3 by Gauss
(07 Marks)

Solve the system of equations: x + y +
climinatiorr"me’thod

Find a the eigen values and corre%&\”ﬁﬂmg eigen vectors %{—Z 190) (07 Marks)

Find the rank of the matri

1 2 3
1 4 2 (06 Marks)
2 6 5
Using Gauss eftmpatlon method solv "system of equations
X+2y+3z=6%; 2x+4y+z _7 x+2y+9z=14, (07 Marks)
m?«} é 2 3 ﬁ;;ﬁ;e,«
e | (07 Marks)
Asean appropnaff%ggetpolatlon fomula% compute f{6).
X £ 1@ 2 3 |add| 5
Y AW 1T | Tl |1
. (07 Marks)
N
impson’s [3] rule by taking n = 6. (07 Marks)
Find a real root of the eq' ition x° — 2x — 5 = 0 by Newton Raphson method. (06 Marks)
s L OR
Find solution usifig Newton’s Interpolation formula, at x =—1.
0 |1 2 3
1 0 1 10
(07 Marks)
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Find the real root of the equation cosx = 3x — 1 using R& uld F: (07 Marks)
52 ¢
Evaluate Iloge x taking n =6 by Weddle’s rulg: (06 Marks)
4
., B
Modul’%’ .
Solve: (D*-2D*+4D-8)y=0 7 (06 Marks)
Solve : =™ - 4 (07 Marks)
(07 Marks)
(06 Marks)
(07 Marks)
(07 Marks)
z=(x—a)*+ (y—b)’ (06 Marks)
Solve : (07 Marks)
Solve : (07 Marks)

by climinatmgﬁ%’ arbitrary function ‘f from
™) i (06 Marks)

A, ¢ (07 Marks)

ntial equation by e@ﬁth}g the arbitrary constants

(07 Marks)

(06 Marks)

i) P(B/A) (iii) P(A/B) (1v) P(B/A) (07 Marks)

f re are four machines A, B, C, D manufacturing respectively 20%, 15%,
25%, 40% of,thé total production. Out of these 5%, 4%, 3%, 2% are defective. If a bolt
drawn at“tandom was found defective, what is the probability that it was manufactured
' (07 Marks)
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OR

State and prove Baye’s theorem. (06 Marks)

.. tains 5 white and 7
n a ball is drawn from the
' (07 Marks)

balls. Another Umn ‘B’
*Urm A to the Um B




